

159, Yishun St 11, #04-166. S(760159) Bussiness Regn No : 201416413W Tel/ Fax no: 67568321

Tax Invoice

MUHAMMAD ZULHAKIM BIN BAKAR

Invoice No.

: AAC 18 FEB 04

c/o EQUATOR BROTHERHOOD

Blk 25, Kaki Bukit Rd 4 Synergy@KB, #03-79

Singapore 417800

Invoice Date

: 10-Feb-18

Terms

: 30 Days

Ref No.

: TP/FBL1182P/Equator/1017/01

Vehicle No.

: FBL1182P

Date of Accident

: 26-Sep-17

Date of Survey

03-Oct-17

Amount
SGD \$520.00
SGD \$120.00
SGD \$96.00
5
SGD \$736.00
SGD \$736.00

E. & O.E.

Cheque should be crossed and made payment to "Advanced Automotive Consultancy Pte Litd "

* KOVANCEO ALLO

Authorised By



Bussiness Regn No: 201416413W

ACCIDENT VEHICLE INSPECTION / ASSESSMENT REPORT

REFERENCE

Our reference no

: TP/FBL1182P/Equator/1017/01

Date of request

: 3-Oct-2017

Date of survey

: 3-Oct-2017 : 26-Sep-2017

Date of accident Requested by

: MUHAMMAD ZULHAKIM BIN BAKAR

C/o , Blk 25 Kaki Bukit Rd 4 Synergy@KB, #03-79.Singapore 417800

. Third north

Type of claim

: Third party

Workshop

: EQUATOR BROTHERHOOD

Blk 25, Kaki Bukit Rd 4 Synergy@KB, #03-79

Singapore 417800

2 DETAILS OF VEHICLE

Registration No.

: FBL1182P

Make & Model

: HONDA CBR1000RR FIREBLADE

Date of registration

: 9-Jun-2016

Engine No.

: SC59E2508627

Engine Capacity

: 999 CC

Chassis No.

: JH2SC59A4GK800458

Speedometer reading

: 8,901KM

Colour

: ORANGE

3 STATIC CHECK

Steering

: In order

Paintwork

: Good

Footbrake

: In order

Modification

: Nil

Handbrake

: In order

General condition

: Good

4 TYRE CONDITION

Nearside/Make

Size

Front tyre

: 3mm/Bridgestone

120/70ZR17

Rear tyre

: 3mm/Bridgestone

190/50ZR17

5 POINT OF IMPACT

The said vehicle has sustained an impact damages on the front, RH side and rear portion. Kindly refer to the attached photographs for more detail of the damages.

6 REMARK

This inspection was conducted entirely on a "WITHOUT PREJUDICE" basis and we have not authorised any repair.

Annex A: Assessement / Adjustment on SpareParts

TP/FBL1182P/Equator/1017/01

10

ltem	Vehicle Parts Description	Condition		Qty	W/shop Est. (\$)	Disc (%)	Adjusted Cost (\$)	
	List Items	70 V-1 60 07				ACCOUNT.		
1	Honda swing arm	distorted	X SVC	1	\$2,000.00	10%	\$1,800.00	
2	Honda front brake disc @ \$400.00	warped	X SVC	2	\$800.00	10%	\$720.00	
3	Honda front fork @ \$1,700.00	leak/distorted	X SVC	2	\$3,400.00	10%	\$3,060.00	
4	Honda tripple clamps (top)	distorted	X SVC	1	\$300.00	10%	\$270.00	
5	Honda tripple clamps (bottom)	distorted	X SVC	1	\$700.00	10%	\$630.00	
6	Honda steering cone bearing	distorted/necessary x svc 1			\$140.00	10%	\$126.00	
7	Honda rear suspension	distorted	x svc	1	\$1,700.00	10%	\$1,530.00	
8	Honda suspension linkage set	repair	7, 0, 0	1	\$220.00	100%	\$0.00	
9	Honda headlight set	grazed	X SVC	1	\$1,450.00	10%	\$1,305.00	
10	Honda head fairing	broken		1	\$800.00	10%	\$720.00	
11	Honda mirror (right)	grazed		1	\$300.00	10%	\$270.00	
12	Honda rider footrest bracket (right)	distorted	X SVC	10	\$150.00	10%	\$135.00	
13	Honda rider footrest (right) 🗸	grazed		1	\$90.00	10%	\$81.00	
14	Honda clutch case 🗸	grazed		1	\$350.00	10%	\$315.00	
15	Honda clutch gasket ✓	necessary		1	\$20.00	10%	\$18.00	
16	Honda bar end balancer (right) ✓	grazed		1	\$25.00	10%	\$22.50	
17	Honda brake lever 🗸	grazed/bent		f	\$70.00	10%	\$63.00	
18	Honda front wheel bearing @ \$35.00	necessary/ratt	e x svc	2	\$70.00	10%	\$63.00	
19	Honda rear wheel bearing @ \$35.00	necessary/ratt	e x svc	2	\$70.00	10%	\$63.00	
20	Honda swing arm bushing set	necessary	X SVC	1	\$80.00	10%	\$72.00	
21	Honda swing arm shaft	distorted	X SVC	1	\$120.00	10%	\$108.00	
22	Honda handle bar (right) 🗸	bent		1	\$200.00	10%	\$180.00	
23	Rozima crash slider 🗸	grazed		1	\$180.00	10%	\$162.00	
24	Zero gravity windshield (front) 🗸	holder cracked	1	1	\$230.00	10%	\$207.00	
				-	\$13,465.00		\$11,920.50	22
							-10%:	20
	S/Nett Items	,			1989/00		****	
1	Motul 300V engine oil @ \$30.00 ✓			3	\$90.00		\$90.00	
2	Rear number plate	dented		1	\$15.00		\$15.00	
3	Bodis twin exhaust (Approved) ✓	grazed		1	\$2,850.00		\$2,850.00	
					\$2,955.00		\$2,955.00	/
		Total for	Spare P	arts	\$16,420.00		\$14,875.50	

TP/FBL1182P/Equator/1017/01

Annex C: Recommendation

We have inspected thoroughly the actual damages found on the vehicle and our assessment is appended in the Annex(es) attached. The condition and age of the vehicle was considered before we reached our recommendation as to whether the parts need replacement or repair.

M/S Equator Brotherhood estimated repair cost is \$\$20,070.00 and we have adjusted it to \$\$17,815.50 on a part by part basis. However, taking into consideration the age of the vehicle and the availability of used/recondition components. We, therefore recommend a contract lump sum repair cost.

The repairer have agreed to undertake the repairs on a contract lump sum of **\$\$15,100.00**, according to acceptable quality and standard. (Repairer discretion to repair parts, to replace with old parts, or to replace with OEM or genuine parts).

The entire repair of the damaged vehicle should be completed within a reasonable period of 7 working days.

We have advised the repairer that the inspection was conducted strictly on a WITHOUT PREJUDICE basis and we have not given any instruction and authorisation to proceed with the repair of the vehicle.

We are reverting the matter to you for your discretion and enclosed is our invoice for service rendered.

Yours faithfully

Henry Low

Automotive License Appraiser CMTM, DMTM, IPTM (UNF)

Annex C-1